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V b = 170 V; R s2 = 0,82 M fl B Ub =  170 V; ■̂ S2 =  0,33 M il
Ra ■= 0,22 M il ; Rit = 2,7 k t l Ra =  0,1 M il ; Rk =  1,5 k i l

— U R 0 5 10 15 20 V - U R 0 5 1C 15 20 V

la 0 ,5 0 0 ,38 0 ,28 0 ,2 0 0 ,1 4 m A la 1,05 0 ,7 ! 0 ,4 8 0 ,3 0 0 ,16 m A

Is2 0,17 0 ,12 0 ,0 9 0 ,06 0 ,0 4 m A ls2 0 ,37 0 ,25 0 ,17 0,11 0 ,07 m A

, U w y]
k u  = -------- 80 23 14 9 6 V /V v  -  U " ' ^Ku  — 68 20 10 6 3,5 V /V

U w ej ^  wej
U ) 0 ,8 1,5 1,9 2 ,6 3 ,6 % h 1) 0 ,75 2,2 2 ,4 3 ,0 5 ,2 %
/i2) 1,0 2 ,5 3 ,2 4 ,2 6 ,0 % Ir) 0 ,8 3,2 3,7 4 ,5 8 ,0 0 /

/o
/z3) 1,2 4 ,0 5 ,0 6,5 9 ,0 o /  

/o h 3) 1,1 5 ,0 5,5 7 ,0 12 ° //o

*) Uwyl = 3 V; 2) Uwyl = 5 V; S) Uwy] = 8_V;

Ub = 100 V; •̂ 52 =  0,82 M fl D Ub =  100 V; Rg 2 =  0,33 M il
Ra = 0,22 M il ; Rk =  2,7 k f l Ra =  0,1 M il ; Rk =  1,5 k i l

— U r 0 2,5 5 7,5 10 V - U r 0 2,5 5 7,5 10 V

l a 0 ,29 0 ,2 2 0 ,1 7 0 ,13 0 ,1 0 m A la 0 ,5 8 0 ,43 0,31 0,21 0 ,14 m A

ls2 0 ,09 0 ,0 7 0 ,05 0 ,0 4 0 ,0 3 m A I n 0,21 0 ,14 0 ,1 0 0 ,07 0,05 m A

,  U  w yj 
K u  — ' 75 27 15 10 7 V /V

, U  w y j
k u  ~ 60 25 12 7,5 5 v /v

U  wej U  w ej
w) 0 ,9 2 ,6 3 ,2 4 ,0 5 ,2 °//o h 1) 0 ,9 2 ,3 3 ,5 4 ,7 7 ,0 °//o
u2) 1,1 4 ,4 5 ,0 6 ,5 8 ,0 O//o Ir ) 1,0 4,5 6 ,0 8 ,0 11,0 <z/o

*) UWy, = 3 V a) Uwy} == 5 V;



Pentoda w układzie triody jako wzmacniacz m.cz. ze sprzężeniem oporowym (s2  połączone z anodą)

Ub =  170 V; R a =  0,1 M O  
R k  =  1,8 k Q

Ub =  170 V; R a =  0,05 m Q  
Rk  =  1,2 k f l

- U R 0 5,0 10 15 20 V — Ur 0 5,0 10 15 20 V
la 1,20 0,84 0,58 0,37 0,22 m A la 2,05 1,37 0,92 0,60 0,32 m A
, U  wy] 
KU 12 6,5 5,0 3,5 2,5 V /V

, U Wy j
Ku — 12 6,5 4,5 3,5 2,2 V /V

U  w ej U  we]
h1) 1,4 1,4 1,4 1,7 3,2 % h1) 1,3 1,6 1,7 2,6 4,5 ° //o
h2) 2,2 2,2 2,3 2,7 5,0 % h2) 2,0 2,8 2,9 4,0 7,5 ° //o
h3) 3,2 3,7 3,8 4,6 8,0 % h3) 2,9 4,6 4,8 6,6 11,0 0//o

*) U u tf  =  3 V; 2) V wy] =  5 V ; 3) U ^yj =  8 V;

c Ub =  100 V;
Rk =

R a =  0,1 M O  
1,8 kQ D u b =  100 V;

R k  =
=  0,05 M O  

1,2 kO

- U r 0 2,5 5,0 7,5 10 V ~ U r 0 2,5 5,0 7,5 10 V
h 0,70 0,50 0,36 0,25 0,17 m A la 1,18 0,80 0,56 0,38 0,24 m A

U wy j
Ku 12 7 5 4 3 V /V , U w y j  

Ku — 12 7 5 3,5 2,5 V /V
U w  ej

h l) 2 ,0 2,4 2,4 2,7 4,2 %
U  w ej  

h 1) 1,7 3,0 3,6 4,2 6,5 ° // o

/i2) 2 ,2 4,5 4,5 4,7 6,6 % I r ) 2,6 5,1 5,7 6,8 10,0 ° // o

*) «/«*» -  3 V ; *) = 5 V;



Wartości graniczne

^aoniax 550 V -^Simax 3,0 M O
Uam. ax 250 V P s  3max 3,0 M O
U  s2omax 550 V C^Simax3) — 1,3 V
U  §2max1) 250 V uD szcz  max 200 V
U  S2max2) 125 V U /)max — 1,34) V
P aniax 2 w U  w/£max 150 V
P  S2max 0,3 w I  £)max 0,8 m A
I]cma,x. 10,0 m A R-wlkm** 20 kO

x) Ia <  2,5 m A ; 2) Ia =  5 m A; 3) / S1^  +  0,3 |xA; 4) Id ^  +  0,3 jxA;

Pojem ności

C wej 4,5 p F

C w yj 5,1 p F

Csiia, <  0,002 p F

C silw < 0 , 0 5 p F

C d /Ic 3,8 p F

C d ! w < 0 , 0 2 p F

C d / s i < 0 ,0 0 1 5 p F

C dici < 0 , 1 5 p F
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